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Question Number : 1 Question Id : 3210112001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following bones are NOT involved in framing the facial skeleton?

Options:
1 # Yomer

- % Palatine

- w Zygomatic

4 « Aflas

Question Number : 1 Question Id : 3210112001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 2 Question Id : 3210112002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The line at which the right and the left halves of the mandible meet each other is known as:
Options:

|« Symphysis menti

- u angle of Louis



- w Symphysis pubis

, % mandibular angle

Question Number : 2 Question Id : 3210112002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 3210112003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The maxilla medially articulates with all of the following bones, EXCEPT:

Options:
1 % ethmoid

5 #® Vomer
- » palatine

4  Zygomatic

Question Number : 3 Question Id : 3210112003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 4 Question Id : 3210112004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the total number of deciduous teeth?
Options:

1. = 18

a2
b
b
<

-2
-2

e
g{
]
L

Question Number : 4 Question Id : 3210112004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 5 Question Id : 3210112005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Which of the following is true regarding the distribution of deciduous teeth in each half of each of the jaws in humans?

Options:
1 « 2 Incisors : 1 Canine : 2 Molars

- % 1 Incisor: 1 Canine : 2 Molars

3z % 2 Incisors : 2 Canine : 1 Molar



4 % 2 Incisors: 3 Canine : 2 Molars

Question Number : 5 Question Id : 3210112005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 6 Question Id : 3210112006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the correct dental formula of permanent teeth in humans?

Options:
i #2123
5 % 1.2.2.3
s % 3.1.272
4% 1.1.3.3

Question Number : 6 Question Id : 3210112006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 3210112007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following layers of the tooth contains vessels, nerves and lymphatics?

Options:
1 % Dentine

- % Cementum

4 % Enamel

Question Number : 7 Question Id : 3210112007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 8 Question Id : 3210112008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following facial muscles are involved in smiling and laughing?

Options:
, w Depressor septi
- % Procerus

- o Zygomaticus major

4 % Levator labii



Question Number : 8 Question Id : 3210112008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 3210112009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 12 cranial nerve is attached to which part of the brain?

Options:
1 % Forebrain

> % Midbrain
= % Pons

4 « Medulla

Question Number : 9 Question Id : 3210112009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210112010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The diameter of the lens of a normal eve in an adult is:

Options:
1. lem

> % l1l.5cm
= % 1.6cm

4 ® 0.5cm

Question Number : 10 Question Id : 3210112010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1« 1T cm

> % 1.5 cm
= % 1.8 cm

4 % 0.5 cm

Question Number : 11 Question Id : 3210112011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& &7 pH AT 8T
Options:

- ¢ 6.08 7.0
5 % 9.0 & 10

a1 §12

Question Number : 11 Question Id : 3210112011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The normal range for the pH of saliva is:

Options:
; % 2.0t03.0

5 « 6.0t0 7.0
3 % 9.0t0 10

4 % 111012

Question Number : 12 Question Id : 3210112012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The act and process of chewing and grinding food in the mouth is known as:

Options:
, % deglutition

> « mastication
5 w Cchyme

4 % emulsification

Question Number : 12 Question Id : 3210112012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 3210112013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following teeth are called the cutting teeth?

Options:



1 « Incisors
- % Canines
= % Molars

4 % Premolars

Question Number : 13 Question Id : 3210112013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 14 Question Id : 3210112014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following hormones has an effect on the growth of teeth?

Options:
, + Thyroid hormone

> % Renin

- » Epinephrine

4 ® Vvasopressin

Question Number : 14 Question Id : 3210112014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 3210112015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following substances is NOT a part of the composition of cell membrane?

Options:
1 % Proteins

- w Lipids

5 w Carbohydrates

4 « Water

Question Number : 15 Question Id : 3210112015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 16 Question Id : 3210112016 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following cytoplasmic organelles is NOT bound by a limiting membrane?
Options:

, » Endoplasmic reticulum



> w Golgi apparatus

o % Lysosome

4 +« Ribosomes

Question Number : 16 Question Id : 3210112016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 3210112017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Deficiency of haemoglobin in blood is called:
Options:

1 « anaemia

- % leukaemia

- % haemolysis

, w thrombocytopaenia

Question Number : 17 Question Id : 3210112017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 3210112018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following conditions causes excessive bleeding in humans?
Options:

, % Deficiency of Vitamin A

o o Deficiency of Vitamin K

- w Deficiency of Vitamin D

4, = Deficiency of Vitamin E

Question Number : 18 Question Id : 3210112018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & @ ormd A F 9 @ ATA # I3cafoF TawE g g7

Options:

| » EEa A FroFE

o v THEIfAA K Hr FHAET
- = fgarf@s D &$r &Ar

4 % TEE@A E #7 Far

Question Number : 19 Question Id : 3210112019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The term bradycardia refers to which of the following?
Options:

1« Slow heart rate



» % Fast heart rate

Irregular heart rate

4 % No heart rate

Question Number : 19 Question Id : 3210112019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 20 Question Id : 3210112020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the overall blood flow rate in the total circulation of an adult at rest?
Options:

1 % 1000 ml/min

> % 2500 ml/min
%z % 3000 ml/min

4 « 5000 ml/min

Question Number : 20 Question Id : 3210112020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 # 1000 ml/min

> % 2500 ml/min



=z # 3000 ml/min

4+ 5000 ml/min

Question Number : 21 Question Id : 3210112021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the standard unit of blood pressure?

Options:
, + Millimetres of Mercury

- u Centimetres of Mercury

z % Millimetres of Water

4 % Centimetres of Water

Question Number : 21 Question Id : 3210112021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 3210112022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the ‘Name’ assigned by manufacturers to their products and is their property or trademark?
Options:

1 Proprietary Name

> % Chemical Name

- » Non-proprietary Name



4 % DBotanical Name

Question Number : 22 Question Id : 3210112022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 23 Question Id : 3210112023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the route drug administration:

The drug is injected info the skin raising a bleb or scarring / multiple puncture of the epidermis through a drop of the
drug.

Options:
1 + Intradermal

> % Subcutaneous
% % Intramuscular

4 % Intrathecal

Question Number : 23 Question Id : 3210112023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gaTS & 3UTET S e 9 fr ggEne e

ZAT H TF dg k ®I H @4 H I Wa (RsTEE) F dAeg o @ 9 & @ B & awan
T =39e T ST g

Options:

| v HISHT (3TEEA)
HIETTIT (HSFge @ gd)

> & &,




. TR (SEHEEER)

4 u SE

Question Number : 24 Question Id : 3210112024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following cholinergic agonists are alkaloids?

Options:
1 % Methacholine

> « Muscarine
% % Bethanechol

4 % Carbachol

Question Number : 24 Question Id : 3210112024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 3210112025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the oral dose of Tramadol in adults?
Options:

{ « S0to 100 mg 4 to 6 hourly

- w 15010200 mg 4 to 6 hourly



s w 25010 300 mg 4 to 6 hourly

4 ® 35010400 mg 4 to 6 hourly

Question Number : 25 Question Id : 3210112025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, v WA W6 ETHS50F 100 mg
.« A ®6 U H 150 & 200 mg
.« B4 W6 TS H 250 F 300 mg

, « B4 ® 6 TT H 350 § 400 mg

Question Number : 26 Question Id : 3210112026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a Non-Steroidal Anti-Inflammatory Drug (NSAID)?

Options:
, % Aspirin

- » lbuprofen

5 o Morphine

4, = Flurbiprofen

Question Number : 26 Question Id : 3210112026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 27 Question Id : 3210112027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the T-half-life of Ibuprofen?

Options:
1 +« 2 hours

> % 4 hours
% % 6 hours

4 % 8hours

Question Number : 27 Question Id : 3210112027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 28 Question Id : 3210112028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o/ #§ ¥ #iF T p-olaeH TEEEficE st § T9ioa Jdr 87

Options:



Question Number : 28 Question Id : 3210112028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following DO NOT belong to p-Lactam antibiotics?

Options:
1 % Penicillins

> % Cephalosporins

%z % Monobactams

4 « Linezolids

Question Number : 29 Question Id : 3210112029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following antibiotics act(s) by predominantly inhibiting cell wall synthesis?

Options:

, = Ciprofloxacin

- + Cephalosporins

=z % Metronidazole

4 % Gentamicin

Question Number : 29 Question Id : 3210112029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 3210112030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following drugs is predominantly antibacterial?

Options:
, = Acyclovir

> % Zidovudine
5 o Erythromycin

4 % Amphotericin B

Question Number : 30 Question Id : 3210112030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 31 Question Id : 3210112031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All of the following are primarily bacteriostatic antibiotics. EXCEPT:

Options:
1 % Ethambutol

- % Clindamycin

=z % Linezolid



4 « Cefixime

Question Number : 31 Question Id : 3210112031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 32 Question Id : 3210112032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which type of films are used for patients who CANNOT open their mouth?

Options:
1 « ExXtra-oral films

- % Occlusion films

5 » DBitewing films

, = Periapical films

Question Number : 32 Question Id : 3210112032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 3210112033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which number is given to the periapical films?
Options:

1.v 1

2_232

Question Number : 33 Question Id : 3210112033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1, wF 1

2.232
3_%‘33

4 % 4

Question Number : 34 Question Id : 3210112034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is INCORRECT in connection with the “placement of films in the oral cavity’?
Options:

, w Films can be bent if necessary but without crease.

- w Carry films into mouth by thumb and forefingers.

- o Teeth under examination should be in the periphery of the film.

4 ®

Position the lower margin of the film in such a way that 1/8™ inch of the periapical area is included.



Question Number : 34 Question Id : 3210112034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 35 Question Id : 3210112035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Which of the following gives the correct order of the steps involved in the complete processing cycle of an X-ray film?

Options:
; « Development — Rinsing — Fixing — Washing — Drying

> w Rinsing — Development — Fixing — Washing — Drying

- » Rinsing — Fixing — Development — Washing — Drying

4 w Development — Washing — Rinsing — Fixing — Drying

Question Number : 35 Question Id : 3210112035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 3210112036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is ‘Elon—Hydroquinone’ combination used as in X-ray processing?
Options:

1 « Preservative

- % Activator
= % Restrainer

4, u Developer

Question Number : 36 Question Id : 3210112036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 37 Question Id : 3210112037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is used as a ‘Restrainer’ during X-ray processing?
Options:

1 + Potassium Bromide

> % Sodium Hydroxide

% % Phenidine



, w Sodium sulphite

Question Number : 37 Question Id : 3210112037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 38 Question Id : 3210112038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For X-ray processing in an automatic machine, if the full cycle time is 3.5 min, then what will be the developing time?

Options:
1 #® 20 s

Question Number : 38 Question Id : 3210112038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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grm?

Options:
1 ® 20 s
o ® 35 s

z ® 50 s
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Question Number : 39 Question Id : 3210112039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following sentences is INCORRECT in connection with the indications for exitra-oral radiography?
Options:

, % Itisused in patients unable to open their mouth.

- It cannot be used in very young patients.

- % It isused in pathologies of sinuses.

, w Itisused where gag reflex is high.

Question Number : 39 Question Id : 3210112039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 3210112040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In case of a Panoramix unit, what is the focal area of the X-ray tube?

Options:
1.« 0.1 mm

> % 1.1 mm

= % 2.0mm



4 % 3.1mm

Question Number : 40 Question Id : 3210112040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ¢ 0.1 mm

> % 1.1 mm
z # 2.0 mm

4 ® 3.1 mm

Question Number : 41 Question Id : 3210112041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is known as the father of cellular pathology?

Options:
1+ Rudolf Virchow

- % Karl Landsteiner

- » George N Papanicolaou

, w Giovanni B Morgagni

Question Number : 41 Question Id : 3210112041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 42 Question Id : 3210112042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which branch of pathology deals with the ‘detection and diagnosis of abnormalities at the level of DNA of the cell*?

Options:

| ® Experimental pathology

5 ® Chemical Pathology
5 % lmmunology

4  Molecular pathology

Question Number : 42 Question Id : 3210112042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 3210112043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sign of inflammation ‘Rubor’ refers to which of the following?

Options:
1 % Pain
o » Swelling

= « Redness

4 % Heat



Question Number : 43 Question Id : 3210112043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 44 Question Id : 3210112044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an inflammatory cell?

Options:
, w Polymorph

» % Monocyte

o o Erythrocyte

, = Lymphocyte

Question Number : 44 Question Id : 3210112044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 45 Question Id : 3210112045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Kaposi’s sarcoma’ is the oral manifestation of which of the following diseases?
Options:

| o AIDS (Acquired Immunodeficiency Syndrome)

» % Diabetes

- » Hypertension

4 % Tuberculosis

Question Number : 45 Question Id : 3210112045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 46 Question Id : 3210112046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Oral lesions as fissures at the angles of the mouth and characteristic *peg-shaped notched Hutchinson’s incisors’ are
seen in which of the following?

Options:
| « Congenital syphilis

- » Primary syphilis
% Secondary syphilis

o

4 w Tertiary syphilis



Question Number : 46 Question Id : 3210112046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 3210112047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following food components when present in high proportions cause dental caries?

Options:
1 % Vitamins

-~ % Fats

- o Carbohydrates

4 % Fibres

Question Number : 47 Question Id : 3210112047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 48 Question Id : 3210112048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following odontogenic tumours have mesenchymal origin?

Options:

| « Odontogenic myxomas

> % Ameloblastomas

- » Calcifying epithelial odontogenic tumours

4 % Adenomatoid odontogenic tumours

Question Number : 48 Question Id : 3210112048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 49 Question Id : 3210112049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tests is used for the identification of bacteria by detecting the production of acid during the
fermentation of glucose?

Options:

,  Methyl red test

- % Nitrate reduction test
= % Urease test

4 # Vvoges—Proskauer test



Question Number : 49 Question Id : 3210112049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 3210112050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a component of the innate immune defence system?

Options:
1 % Skin

> #% Mucosa

- w Macrophages

4 « T helpercells

Question Number : 50 Question Id : 3210112050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 3210112051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following structures is united to the wall of the bony socket in the jaw by periodontal ligament?

Options:
1 % Enamel

- % Dentine
= o Cement

4 ® Gum

Question Number : 51 Question Id : 3210112051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 3210112052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an objective of the “WHO Expert Committee on Dental Health Education’?

Options:
1. %

To review the current status of dental health education in relation to high-priority dental needs and problems

2. ®
To discuss basic concepts of dental health education founded on research in education and behavioural sense

2.
To develop broad guidelines for planning, implementing and evaluating dental health education programmes based on
these concepts

4 « Tominimise needs for manpower facilities and research in dental health education



Question Number : 52 Question Id : 3210112052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 3210112053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following components is NOT a part of the definition of ‘Health’ by WHO?

Options:
, » Complete physical well-being

- » Complete mental well-being

5 w Complete social well-being

4 « Complete spiritual well-being

Question Number : 53 Question Id : 3210112053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 54 Question Id : 3210112054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which year did the WHO Expert Committee on ‘Organization of Dental Public Health Services’ emphasise the
importance of ‘social and behavioural research’?

Options:
1« 1964

> % 1988
5 % 2011

4 % 2014

Question Number : 54 Question Id : 3210112054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|« 1964
. % 1988
- % 2011

. = 2014

Question Number : 55 Question Id : 3210112055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following sentences is true regarding the ‘parameters of evaluation® on which ‘dental health education
programmes’ are dependent?

Options:

, w Independent of what type of evidence will be used to measure programme effectiveness

5 of Dependent on what baseline data will be established



- » Independent of what baseline data will be analysed and interpreted

4 %
Independent of what type of controls will be used to relate behavioural changes to the educational efforts

Question Number : 55 Question Id : 3210112055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 56 Question Id : 3210112056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Pre-surgery and post-surgery education for oral surgery patients’ comes under what level of prevention?
Options:

, w Primary Prevention — Health Promotion

> w Primary Prevention — Specific Protection

- % lertiary Prevention — Disability limitation

, « lertiary Prevention — Rehabilitation

Question Number : 56 Question Id : 3210112056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 3210112057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which year was the first medical examination of ‘school children® carried out in India (Baroda city)?

Options:
1 ® 1900

5> « 1909
s % 1988

4 % 1997

Question Number : 57 Question Id : 3210112057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. = 1900
- » 1909
- = 1988

L % 1997

Question Number : 58 Question Id : 3210112058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the Fluoride ‘“Mouth-Rinse’ programme for children. what is the amount of ‘Sodium Fluoride Powder” added to 1000
ml of water?

Options:



- o
4, =B

Question Number : 58 Question Id : 3210112058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 1.0g
> 2049

-z 30g

i % 40 g

Question Number : 59 Question Id : 3210112059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT among the WHO criteria for dental caries diagnosis (confirmed with sickle-shaped explorer)?

Options:
, = Lesionin a pit or fissure

> u Lesion on the free smooth surface with detectably softened floor

5 o Tooth with a permanent filling

4 % Undermined enamel

Question Number : 59 Question Id : 3210112059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 60 Question Id : 3210112060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

As per the standard codes of the WHO Oral Health Assessment Form, the “lower left third molar’ is designated by
which number?

Options:

1. = 18

Question Number : 60 Question Id : 3210112060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 61 Question Id : 3210112061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the dimension ranges of the bristles of acceptable brushes described by the American Dental Association?

Options:



L« 1109.5 wide, 2 to 4 rows of bristles and 5 to 12 tufts per row

o % 21to5wide, 1to 2 rows of bristles and 1 to 2 tufts per row

- % 1to3 mm wide, 13 to 14 rows of bristles and 13 to 14 tufts per row

4 # 1710 19.5 wide, 8 to 14 rows of bristles and 12 to 15 tufts per row

Question Number : 61 Question Id : 3210112061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 62 Question Id : 3210112062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the recommended diameter of the bristles for soft brushes according to the American Dental Association?

Options:
1.« 0.2 mm

> % 0.3mm
= % 0.4mm

4 % 0.5mm

Question Number : 62 Question Id : 3210112062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1« 0.2 mm
> % 0.3 mm
z % 0.4 mm

4 % 0.5 mm

Question Number : 63 Question Id : 3210112063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does it suggest if the bristles of a toothbrush are still straight after 6 months?

Options:
, + Brush has not been used every day

> w DBrush has been effectively used every day

- » DBrushing has been overzealous

4 % Brushistoo hard on teeth and gum

Question Number : 63 Question Id : 3210112063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 64 Question Id : 3210112064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which *Type’ of inter-dental cleaner is used in cases where there is ‘complete loss of papillae™?

Options:



; » Typel
5 % Type 2
5 Type 3

4 % Tvpe 4

Question Number : 64 Question Id : 3210112064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 65 Question Id : 3210112065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following vitamins is known to be an ‘anti-caries agent’ by virtue of its enzyme inhibiting activity in the
‘carbohydrate degradation cycle’?
Options:
1« Vitamin K

- % Vitamin A
% % Vitamin D

, w Vvitamin B complex

Question Number : 65 Question Id : 3210112065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 66 Question Id : 3210112066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following diets is known to prevent caries?
Options:

| « Diet with roughage
- % Refined foods

= % Soft diet

4 % Diet with high carbohydrates

Question Number : 66 Question Id : 3210112066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 3210112067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Disturbance in metabolism of which of the following during the period of tooth formation results in severe enamel
hypoplasia?

Options:



1 % Fluorine

-  Calcium and Phosphorous
%z % Vitamin E

4 % Protein

Question Number : 67 Question Id : 3210112067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 68 Question Id : 3210112068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which zone is called as the “Positive Zone’ in Pit and Fissure Caries development?

Options:
, w Zone 1 (the translucent zone)

-  Zone 2 (dark zone)

- % Zone 3 (body of the lesion)

, = Zone 4 (surface zone)

Question Number : 68 Question Id : 3210112068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aral F =S @ A U7 X UT I F 9y H FH Ry & 9ifafed T Far J1ar 87

Options:




| FE 1 (TS &)
, Fd 2 (3R ZFd 8F)
, FIeT 3 (IrEgFa &)

4 % T 4 (T &)

Question Number : 69 Question Id : 3210112069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘The mesic buccal cusp of the maxillary first permanent molar occludes in the buccal groove of mandibular first
permanent molar® — This condition belongs to which class as per ‘Angel’s System of Classification’?

Options:
1 « Class1

- % Class II Division 1
= % Class II Division 2

4 % Class III

Question Number : 69 Question Id : 3210112069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 70 Question Id : 3210112070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The malocclusion of genetic origin that can occur due to excessively large mandible belongs which class as per Angel’s
System of Classification?



Options:
1 « True Class I1I

> % Pseudo Class III
%z % True Class IT

4 % True ClassI

Question Number : 70 Question Id : 3210112070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 71 Question Id : 3210112071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Dewey’s Modification of Angel’s Malocclusion’ Type 1. Class 1. suggests which of the following?
Options:

, w Malocclusion with protrusive maxillary incisors

> « Maloceclusion with bunched or crowded anterior teeth
= % Malocclusion with anterior cross bite

4 % Molar relation with posterior cross bite

Question Number : 71 Question Id : 3210112071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 72 Question Id : 3210112072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

As per the Ackerman—Profit system of classification, ‘assessment of the alignment and symmetry of the dental arch’
falls under which step?

Options:

L Step 1

5 % Step 2
5 % Step 3

4 % Step 4

Question Number : 72 Question Id : 3210112072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 73 Question Id : 3210112073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘When cancer cells develop the capacity for discontinuous growth and disseminate to other parts of the body, it is known
as:



Options:

, % clonality

- % anaplasia
- % autonomy

4 « metastasis

Question Number : 73 Question Id : 3210112073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 74 Question Id : 3210112074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Betel-Tobacco Quid chewing and Bidi smoking is associated with the highest risk of cancer at which of the following
subsites?

Options:
, w Buccal mucosa and gingiva

-  Base of tongue and oropharynx

- % Anterior tongue

, = Tongue and floor of the mouth

Question Number : 74 Question Id : 3210112074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 75 Question Id : 3210112075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a benign tumour of epithelial origin?

Options:
, w Papilloma

> % Squamous acanthoma

- w Pigmented cellular nevus

4 « Rodent ulcer

Question Number : 75 Question Id : 3210112075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 76 Question Id : 3210112076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the characteristic of malignant tumours?

Options:



1 % Cells resemble normal cells
- % No metastasis
= % Well differentiated

Anaplastic cells

Question Number : 76 Question Id : 3210112076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e & & #iF & v geF TR 1 Rdve 7@ R

Options:

|« PIAHT WAT FAFHT a7 Twm & 2

o % PIS HTEIOT FE FIAT &

. » =0T @ ¥ T fFwr o gear ¥

4 v TATHIEES IR

Question Number : 77 Question Id : 3210112077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
As per the International Union Against Cancer, what does ‘TX’ indicate?

Options:
, w Primary tumour

5 of Primary tumour cannot be assessed

- w No evidence of primary tumour

4 % Carcinoma in situ

Question Number : 77 Question Id : 3210112077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SIS YA IRFE FHL F HFAR T FH FT HY g2

Options:



| » HREE TR

o T SRIAF R, w997 FET S A1 Al
. HNHH TIFET T HS Tohel FE0

4 % HTEIH % TAHAT H FIOSET

Question Number : 78 Question Id : 3210112078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Each community health centre is targeted to cover how much of the population?

Options:
. % 10,000 to 40,000

5 % 50,000 to 60,000
= 80,000 to 1,20,000

4 % 1.40,000 to 1,60.000

Question Number : 78 Question Id : 3210112078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 10,000 ¥ 40,000

, = 50,000 & 60,000
. » 80,000 & 1,20,000

, = 1,40,000 & 1,60,000

Question Number : 79 Question Id : 3210112079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the word STEP stand for, which was a 4 heading design to revolutionise community health by the then
Director-General of WHO in 19782



Options:
| % Social, Technical. Environmental and Political

o o Social, Technical. Economic and Political
5 % Social, Traditional. Economic and Political

4 % Social, Technical, Economic and Pubertal

Question Number : 79 Question Id : 3210112079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 80 Question Id : 3210112080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT among the functions of a Primary Health Centre (PHC)?
Options:

1 % Medical care

- » Safe water supply and basic sanitation

= % Health education

4 o X-ray services

Question Number : 80 Question Id : 3210112080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 81 Question Id : 3210112081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which university was the first “University-Affiliated Dental Programmer’ established for the first time?

Options:

, « Harvard University

- u Stanford University

5 % lexas A & M University

4 % Yale University

Question Number : 81 Question Id : 3210112081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 3210112082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following statements is INCORRECT in connection with the *guidelines followed in dental public health
practices’?

Options:
, w Public health work is done in areas where group responsibility is recognised.

-  Public health work relies mainly on individual efforts than team efforts.

- u Public health workers deal with the healthy as well as the sick.

4 % Public health work deals with the search of cause of the disease.

Question Number : 82 Question Id : 3210112082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 83 Question Id : 3210112083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the top most common disease of the mouth that a dental health practitioner comes across?

Options:
1 « Dental caries

- % Oral cancer

- u Developmental anomalies

4 % Periodontal disease

Question Number : 83 Question Id : 3210112083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 3210112084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From which embryonic layer do the teeth erupt?

Options:
1 % Mesoderm

> « Ectoderm
3z % Cloaca

4 % Endoderm

Question Number : 84 Question Id : 3210112084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 3210112085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 3210112085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the total number of teeth in primary dentition?
Options:

i 4 20

k]
5
f__.u
I-J

WA ]
g{
L]
L

Question Number : 86 Question Id : 3210112086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In primary dentition, the teeth in the upper jaw erupt earlier than those in the lower jaw, EXCEPT:
Options:

1 % lower lateral incisors

- « lower central incisors
= % lower canine

4 % lower molar

Question Number : 86 Question Id : 3210112086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 3210112087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 3210112087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Under normal circumstances in a normal child, which of the following orders of the eruption of teeth is correct in
primary dentition?

Options:

, « Lower central incisor - upper central incisors - upper lateral incisors - lower lateral incisors

- % Upper central incisors - lower central incisor - upper lateral incisors - lower lateral incisors

- % Lower lateral incisors - upper central incisors - lower central incisor - upper lateral incisors

, = Upper lateral incisors - lower lateral incisors - upper central incisors - lower central incisor



Question Number : 88 Question Id : 3210112088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Normally at what age do the first molars appear during permanent dentition?

Options:
| ® 4years

5 o 6 years

5 % 8 vears

4 % 10 years

Question Number : 88 Question Id : 3210112088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 3210112089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the usual size of bacterial cells?
Options:

1w 0.3 to 5 um

5> % 81010 pm

o % 12to 15 um

4 % 18 to 25 um



Question Number : 89 Question Id : 3210112089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 3210112090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following gram-positive cocci are usually found in grape-like clusters?
Options:

, w Streptococci

o o Staphylococci

z % Pneumococci

4 = Corynebacteria

Question Number : 90 Question Id : 3210112090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 3210112091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following organisms play a major role in tooth decay and tooth caries?

Options:
1 % Escherichia coli

5 o STI‘EpTDCOCCHE- mutans

= % Staphylococcus aureus

4 % Anthrax bacterium

Question Number : 91 Question Id : 3210112091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 3210112092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The guideline values for hot-air sterilisers is:

Options:
1 « 180°C for 30 minutes
> % 180°C for 120 minutes

z % 180°C for 160 minutes

4 % 180°C for 180 minutes

Question Number : 92 Question Id : 3210112092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 3210112093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The recommended dietary allowance of protein for a healthy adult with minimal physical activity is:
Options:

, « 0.8 g/kgofbody weight / day

- u 0.4 g/kgofbody weight/ day

5 # 0.3 g/kg of body weight / day

4 = 0.2g/kgofbody weight/ day

Question Number : 93 Question Id : 3210112093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 3210112094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is NOT a correct practice?
Options:
, w Always mention the date and time of the consultation.

- » Listen attentively, look carefully and ask questions intelligently.

- w Record history of drug allergy.

4 « Refuse if the patient wants to leave against medical advice without documentation.

Question Number : 94 Question Id : 3210112094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 3210112095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All of the following are implied duties owned by the doctor, EXCEPT:

Options:
L% keeping the patient informed of his or her progress
- u Dot abandoning the patients

- » ensuring that care is available in emergency situations

4  refusing to treat the patients suffering from HIV/AIDS

Question Number : 95 Question Id : 3210112095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

o 7 ¥ g v &F 3rarar 960 @sfr vF =ideT & Afeg w0 22

Options:

x T &1 3T TEET ﬁ‘gé";mﬁr (uR) F s H GEd FHd &

1.

. % AT FF T SIS

S T8 AT w1 & Adwes [eutadl § S@HTe 3966 &

4 v HIV/AIDS & 7T AT & 399K &4 § HaAT e

Question Number : 96 Question Id : 3210112096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an implied duty owned by the patient?

Options:
.+ Must disclose all information that may be necessary for the proper diagnosis and treatment

- u Complete the care in timely manner

- u Give appropriate reference and request for necessary consultants

, % Notuse any experimental procedures

Question Number : 96 Question Id : 3210112096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 3210112097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 3210112097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Consents given by the parents/relatives for the examination or treatment of their child/relative who is mentally unsound
is called:

Options:
1 % informed consent

5 % expressed consent

5 « substitute consent

, w Implied consent

Question Number : 98 Question Id : 3210112098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following dental practices is unethical?

Options:
, = Punctuality in fulfilling patients appointments

o  Accepting financial support through commissions for referrals
» Being courteous, sympathetic, friendly and helpful

o

, w Conserving the utmost welfare of the patients
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 3210112099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an objective of the Codes of Professional Ethics for Dental Hygienists?
Options:

, w To provide oral health care utilising highest professional knowledge. judgment and ability

-  To serve all patients as per their economical and standards

- % o hold professional-patient relationships in confidence

, = Tomaintain professional competence through continuing education

Question Number : 99 Question Id : 3210112099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 3210112100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the registration number of the Indian Dental Association (IDA) as registered in the Indian Parliament?

Options:
L« 517265

> % S/268

4 % §/295

Question Number : 100 Question Id : 3210112100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HRAT THE H Tiipd 3i8dd Scol THEMITe (IDA) $r Teiesor §&ar F#41 82

Options:

. & S 1265

- % S/ 268

> % S/ 271

4 % S /295

eneral Aptitude

Section Id : 32101134
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 32101166
Question Shuffling Allowed : Yes



Question Number : 101 Question Id : 3210112101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A cyclone in Philippines and Japan is called?

Options:
1 % Hurricane

- % Tornadoes
-  lyphoon

4 % Storm

Question Number : 101 Question Id : 3210112101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ey 31T 9 & T=Ra1g # FaT AT 2

Options:

| x B

Question Number : 102 Question 1d : 3210112102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The rotting dead matter in the soil is called:

Options:
, » Topsoil

- % DBedrock

- u Sandy soil

4 « Humus

Question Number : 102 Question Id : 3210112102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



B8 & T I 7T 9 H FE AT 8
Options:

, » 90 g
] W—Eﬁﬂ'
_» W B

, v T TR

Question Number : 103 Question Id ;: 3210112103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What’s the percentage of oxygen when we inhale?
Options:

1. *® 25%

Question Number : 103 Question Id : 3210112103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HTH & AOH ¥ g7 gar gfaeg AE=a Jg0T F:ig 27
Options:

| % 25%

5 % 31%
e 21%

L ® 24%

Question Number : 104 Question Id : 3210112104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frogs have a pair of lungs like human beings but they can also breathe through their

Options:



Tracheae

,_.
&

- % Gills
o oW Skin

Spiracles

Question Number : 104 Question Id : 3210112104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hoa H UF S 562 2 &, ofhT 3 3 F HETH T off HH o T 2

Options:

Question Number : 105 Question Id ;: 3210112105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gulamgiri is written by?

Options:
1 % B.R Ambedkar

- % Pandita Ramabai

- % Shahu ji maharaj

4 + Jyotiba Phule

Question Number : 105 Question Id : 3210112105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAARIY F TEF g
Options:
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4 & 3
Sub-Section Number: 2
Sub-Section 1d: 32101167
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 3210112106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternates which has analogous relation to the given terms:

Bombay: Hyderabad: Jaipur: ?
Options:
1 +« Chennai

- % Palakkad

Swﬁgra

4 % Vijayawada

Question Number : 106 Question Id : 3210112106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fpedl & & 3 =g 99, S fow v et & wEfaa €
HaS: T FA: 72

Options:

o & OIS

z % HFN



L % TEsHarsT

Question Number : 107 Question 1d : 3210112107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a coding system. SIN is written as CGO and HOLE as BKAV. How should one write NOSE in that coding system?

Options:
i ® KVCM

> % KCMG
s % MCKL

i o OKCV

Question Number : 107 Question Id : 3210112107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 2T qumelr H, SIN #F CGO 3T HOLE & BKAV & &9 & forGr Jrar g1 38 #ifger gomer &
NOSE F& = =fge?

Options:

. % KVCM
- x KCMG
= % MCKL

4 v OKCV

Question Number : 108 Question Id : 3210112108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Viyshnavi is sister to Naresh, How is Vyshnavi’s mother’s brother’s son related to Naresh.

Options:
1 & Son
> % Brother

= « Cousin

4 % Father in law



Question Number : 108 Question Id : 3210112108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

JeUTET LT Fr 5T g1 TS Y AT F 912 FT FeT A0 ¥ T gIoT B2
Options:

2 % H%

_ o SRRT &

I ]

Question Number : 109 Question Id : 3210112109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many triangles are there in the following figure?

Options:
1. % 3

2 ¢ 9

g 11

Question Number : 109 Question Id : 3210112109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1_-;-‘35

3¢ 9

Question Number : 110 Question Id : 3210112110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following Venn diagram shows information about number persons who like of different types of Chocolates
produced by company ZXYX during a survey in the school LMN.

What is the ratio of number of students who like chocolates of type B only to Type A and C but not B?

Options:
1, ® .

Question Number : 110 Question Id : 3210112110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



mwmmmﬁm%mﬁmm%mﬁﬁwNﬁ?wm#
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Options:
1 % 4 :3
> % 4 11
=% 3:2
L3 1

Question Number : 111 Question Id : 3210112111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figure carefully. There is an analogous relation between the first and second pairs. Choose the
missing figures (I and II) from the alternatives such that they form pairs.

<??@

1€
(]




I (C

Question Number : 111 Question Id : 3210112111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fafafle sl & cmEs g # Wﬁ?@i’ﬁ?wwmﬁmﬁﬁ% et #
¥ A R 94, S AT TS ATEAE WY HAET S T

1€
(]
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£
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Question Number : 112 Question Id : 3210112112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What would be the 18™ term in the following arithmetic progressive series?

3.9 B AR s



Options:
1. ® 69

Question Number : 112 Question Id : 3210112112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

f=faf@a garax Sofr #1831 98 a1 gem?

= 0 1L, 18
Options:

2 ¢ 71

Question Number : 113 Question Id : 3210112113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sampath has ¥ 700 in the denominations of five-rupee notes. ten-rupee notes and twenty-rupee notes. The number of
notes of each denomination is equal. What is the total number of notes that he has?

Options:
1. ® 20

-2
g{
Ay
o

3. ¢ 60

90

o
g‘{

Question Number : 113 Question Id : 3210112113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TIG & IH 99 T & A, 6 T & A HR W T F AT F Jgegad # T 700 g1 ThE Hegadl
¥ Al T TET T gl 3TF T Fo Fan A g7




Options:

3 v 60

Question Number : 114 Question 1d : 3210112114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IS, + AT T e @ — P AENT FETE, +, X W FERT I g AT %, = Fr
g +ear €, ar ST Iss & 9uTHE &= gE?

16+ 2% 18% 3 @ 9

Options:

oo 29

Question Number : 114 Question Id : 3210112114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If § stands for — . @ stands for —, * stands for *, % stands for +,
then what would be the result of the following expression
‘16*2818%3@9°?
Options:
1. ® 21

Question Number : 115 Question Id : 3210112115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In a certain code MUMBALI is written as 1422143210. How AGRA could be written in that code language?
Options:

| ® 27192
5 % 28182

5 o 28192

4 % 27182

Question Number : 115 Question Id : 3210112115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

tw AffTa 5 7, MUMBAI Fr 1422143210 B/@T J1aT 81 39 1T 8197 ¥ AGRA Fr % @ar =
TeraT 87

Options:

; % 27192

. = 28182

4 ® 27182

Sub-Section Number: 3
Sub-Section Id: 32101168
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 3210112116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A person’s salary was decreased by 50% and subsequently increased by 50% . Then the percentage of loss incurred is:

Options:



Question Number : 116 Question Id : 3210112116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe fordlt safFa & da # 50% 1 F0 g8 A a1 F 50% H g8, @ g e
g &

Options:

L % 20%

25%
3. v

50%

4

Question Number : 117 Question Id : 3210112117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g 3R T T FAw 4:3 F AT H Fewm S g1 3 5 s 9= 3k e e Smer g ar
I 4:5 g ST g1 gy # IRfEE A a9

Options:

1 % 4

23.55
3@"10

Question Number : 117 Question Id : 3210112117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Milk and water and mixed in the ratio 4 : 3 respectively. If 5 litre of water is added again. then the ratio becomes 4 : 5
. Then the quantity of milk present initially is:

Options:

1 = 4



Question Number : 118 Question Id : 3210112118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

11 sfomat @5 sitwa 60 F1 IfE omer 6 oRomAT #= sitma 58 F 3T 3w 6 ofumAT @ sitEa 63
ar oaar 9uTH &

Options:

4 v 66

Question Number : 118 Question Id : 3210112118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The average of 11 results is 60 . If the average of first six results is 58 and the last six is 63 , then the sixth result is:

Options:
1 ® 62

4.« 66

Question Number : 119 Question Id : 3210112119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A salesman sold an article at a loss of 20% . If the selling price had been increased by < 100 . then there would have

been a gain of 5% . What was the cost price of the article?
Options:
| @ T400

4 % T600



Question Number : 119 Question 1d : 3210112119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UF Foddad o T I&] A 20% ¢ & a=1| I T 7o & 2100 #r gfg F 715 g, ot 5%

T A BT T HF HT H{ed FIT AT?

Options:
, v T 400

L « T450

5 T 500

Question Number : 120 Question 1d : 3210112120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Allen works twice as fast as Bob. If both of them together take 6 days to complete the work, then in how many days can
Bob alone complete the same?

Options:
, ® 2 days

- w 12 days

e 18 days

4 = 20 days

Question Number : 120 Question Id : 3210112120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THA Hig B gerell A AT O § FIH BT ¢l A i WY FH S ¢ A FH W H H 00 6
& o1 &, o a7 bt 3 FH F fohaw A H G FT Hevar €72

Options:
= 9 fea
> % 12 fea



Question Number : 121 Question Id : 3210112121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two bicyclists cover the same distance 12 km/br and 13 km/hr respectively. If one takes 13 minutes more than the
other, then the distance travelled by each is:

Options:
. % 3.38 km

> % 33 km
z o 33.8 km

4 % 38 km

Question Number : 121 Question Id : 3210112121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& wEfRe 9o FH 12 km/hr 3R 13 km/hr B T @ TEE g O S 3 AR v A g @
13 fise 70 e 2, aF 9w qawr a7 # 7w gl &

Options:

. % 338 km
.« 33.8 km

Question Number : 122 Question Id : 3210112122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following diagram. if KL = LM .IfCK = 5x+ 9 and CM = 6x — 13, then x equals

#

, @
w1k
e

Options:



Question Number : 122 Question 1d : 3210112122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRRT R & aff KL=2IM | If& CK=5x+9 T
CM=6x—13 &, a x & AT gHm:

Options:

1 & 4
o> R 9

a v 22

Question Number : 123 Question Id : 3210112123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of T 1550 is lent out into two parts, one at 8% and another one at 6% . If the total annual income is T 106,
then the money lent at each rate is

Options:
1 « T 650and 3 900
> % T 0950and T 600

= % ¥ 750and¥ 800

4 % T700and ¥ 850



Question Number : 123 Question 1d : 3210112123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 1,550 &r TR TR &t oA F siea - T H 8% AR g F 6% F W F @ W m waw
IfE Fo AMi¥e 3T T 106 g, & ¥ede & W 39N & 7 U &

Options:

. » T 650 3 T 900
-, » T950 3R T 600
. « 750 3R %800

, = T700 3R T 850

Question Number : 124 Question 1d : 3210112124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In what ratio must a cereal at T 9.30 /kg be mixed with a cereal at ¥ 10.80/kg so that the mixture be worth ¥ 10 /kg?

Options:

4 & 817

Question Number : 124 Question Id : 3210112124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T9.30/kg ITF Tk HATH HF T 10.80/kg mﬁwm#w%mﬁﬁmmaﬁm SHED
A& #1 H77 T 10/kg & STT?

Options:



Question Number : 125 Question 1d : 3210112125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The surface area of the following prism is:

N

[
|
[
1
|
|
4cm. |3cm
R_L"‘#f
XCm
Options:

108 156 cm?

. 158 cm?
2 « 168cm’

4w 170 em”

Question Number : 125 Question Id : 3210112125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
. % 156 cm®

- % 158 cm?



5  168cm?

4 % 170 cm



